i/

HOSON

Operation Manudl

/H— 1000 F T

Efficiency & Performance
Specialized & Creditable

AUTOMATIC FOLDER GLUER MACHINE



H

A

e
3

B3

=
)
5

3)

(2) 1)

CI%

(8) (11
(12 —L (13)
L Bearings 2 6007
3 Bearings 2 6500 5
7 Bearings 7 FL20L4
W Bearings 2 F LQ 0 4
I e e
: Draw Date AUTOMATIC FOLDER
7 Bearings ’) FL205 Check GLUER MACHINE
figures Date
6 Bearings 2 FL205 Comparison | Weight | Total
; Shfpe | el | 7H1000FT-01
5 Bearings 9 FL205 epartmen 1:20 Several




(5)

(6)

(&)

(7)

(8)

(3)

(2)

(1)

8 Connect piece 1?2
7 Stalk 6
6 Wheel gear 12

5_( | Inside card 5 D32
53 Screw 6 M10
5.7 | Bearings 6 6002RS
5_1 Tense round 6
5 Tense module 6
1, | Spring coil 8 GB97-96
(3 | Even mat 16 HO10X1.5
) Screw 8 m10
41 | Bearings 16 6200
Ly Paper round module 8
3.3 | Play mat 2L | ®0.9X5%31
3-7 | Screw 2L | wsx2o
3.1 | Bearings L8 626
3 Paper round module 2L
2.3 Outside card 5 ® 35
2.9 | Bearings 6 6907
2.1 Deliver leather belt &
? Spread move module &
1| Deliver leather belt | § 8X25X1000
I s P
praw pate AUTOMATIC FOLDER
Check GLUER MACHINE
figures Date
Paper Comparison | Weight | Total ZH-1000FT-02
feeding unit 1:20 Several




(7

(8)

(6)
(&)

© .o ° ° A O
QU T B MMM AT 5
© o ©)
° ° @ ’ z@ 00 @ ° °
9
©) 0000 o) & 0900
(10) (1) B)
(14) (13) (12)

(2)

1423 Inside card 8 D26
1,9 | Screw 8 M10
14_1 | Bearings 8 6000
1L | Synchronous take | 8
13-4 Inside card 3 D15
13-3 Outside card 3 D32
13-2 Screw 3 M12
13-1 | Bearings 3 6002RS
13 | Synchronous take | 3
173 | Outside card & D26
12-2 | Screw 6 M10
121 Bearings 6 6000
12 | Synchronous take | 6
1-5 Inside card 3 b 32
M-t Outside card 3 D15
1-3 Screw 3 M12
11-7 | Bearings 6 6002RS
1o Wheel 3
11 | Synchronous take | 3
10-3 Outside card 3 D68
10-2 | Outside card 3 D L5
10-1 | Bearings 3 69092
10 | Synchronous take 3
9.3 Play mat 10 2?2
9-2 Screw 10 m10
9-1 | Bearings 20 6900
9 Synchronous take 10

g_3 | Inside card 17 D19
8.7 Screw 12
81 Bearings 2L 626
8 Synchronous take
7.4 | Spring coil N @ 0. 9X5X31
7.3 | Even mat N HP6X1.5
7_7 | Iron pillar N
71 Bearings N 6267
7 Synchronous take N
6-3 Play mat N GB97-96
-2 | Bearings N M8X22
6_1 |Synchronous take N 6087
£ | Synchronous take N
5_4 | Inside card 3 19
5.3 Screw 3 M6
5_p | Bearings 6 626
5_1 | Wheel 3
5 Synchronous take 3
L, Leather belt 3 3X25X3300
3 Leather belt 3 4X23X3700
2 Leather belt
1 |Synchronous take 1422V290
Profacel  Name Quantity| Material | Remarks
praw pate AUTOMATIC FOLDER
fggﬁigs Date GLUER MACHINE
Pre-folding Comparison [ Weight | Total ZH-1000FT—03
unit Sereeal




(8)

(3)

(2)

()

10-3 | Inside card D68
10-2 Outside card D45
10-1 | Bearings 6909
10 Synchronous take
9_( | Inside card D26
9-3 Outside card D10
9.2 Screw M10
9_1 Bearings 6000
9 Synchronous take
8-3 Inside card D22
8-7 Screw M10
8-1 Bearings 6900

8 Wheel

7.3 | Inside card ) D26
7.9 | Screw ’) M10
7_1 Bearings 8 6000
7 Synchronous take 2
64 | Spring coil N @®0. 9X5X31
6-3 | Even mat N HP6X1.5
6_7 Iron pillar N
6_1 | Bearings N 6267
6 | Synchronous take N
5.3 Play mat N GB97-96
5-2 | Screw N NBX 22
5.1 Bearings N 6087
5 Synchronous take N
5.7 | Inside card 2 D68
5.1 Bearings 2 69097
L, | Synchronous take )
3.4 Inside card ? D26
3.3 Screw 7 M10
3.7 Bearings L 6000z
3.1 Wheel 2
3 Synchronous take 7
7 Leather belt 7 3X23X3100
1 Leather belt 7 4X23X2480
Prefacel  Name Quantity  Material | Remarks
praw pate AUTOMATIC FOLDER
fgggigs Date GLUER MACHINE
Presjri]?tg Comparison | Weight i%il 7H-1000FT-04
page




(2)

()

/

/ — ()

(o

/

/ -

«

1?2 Sponge leather belt
i Leather belt 1
10 Leather belt 1 3X500X3170
9 Leather belt 1 3X500X3800
8-1 Bearings 1
8 Stalk 2 T205
7-72 | Inside card i
7-1 | Bearings 78 6002RS
7 Roller 14
6-1 Bearings 78 ®32
6 Stalk 28 6002RS
5.7 | Inside card 14
5_1 Bearings 2 D62
5 Stalk 2 6206
-7 | Inside card 1
-1 Bearings i D22
Ly Roller i
3.7 Inside card i D22
3 Bearings 7
2-1 Inside card 7 608
2 Bearings ?
1 Bearings i FA205
; Material .
E{n% ace Name Quantity spegi ?fé:tion Remarks
Draw Pate AUTOMATIC FOLDER
[.ChCCk Date GLUER MACHINE
igures
CI . Comparison | Weight ggégl ZH-1000FT-05
u%?gplng 1:20 Several
: page




i (& R
ft & i

Fic

RS S
HEHES
KEEY

KAES

=

% 7

5

i #
il

HRR | HE

HER)  HM

PE

Circuit Diagram of 1000 F Automatic Folder Gluer Machine

O

| KA3

SB617 SB62: SB63j

back start

\ QF1 QF2
KM1
) - o
SB5-1
L1 L2 AC+ AC- SB5-2
inveter back AC+ AC- NoOL3 SB5-3
UV Governor switch rectifier
24VDC DC+ DC— KA2
; KA1 - -
motor Adjustable Clutch Crinder SB4-1\! SB4-2
speed motor | |
2. 2KW 180W 15W HoW
KA1
coy —— 1
main start inching
KA2
oM  ——"— X3
breaker 2P25A 1P10A
—I 10V
contactor AC220V
o VS inveter 2. 2KW 180W
I:I & Vs motor 2. 2KW 180W
——————4t GND




